—y=1
1. {x SR LR R R

QA x =y + 1S O tHYSHH,
(+1)?+y*=5

Y +y-2=0

G+2)y-1)=0
Ly=—2FEF=y=1

y =22 @of tjAshel x = -1
y=1< O fYdstd x =2
Soxy=2




2 pa—
20 o) gre ot

W100+1

(5, i w o] el asolrh)

® 2 @ 3 ® 5 @-3 @)
CHx+1=09F I

w,w=>w+w=-1 ww=1

W+w+1=0,

(w-1)(?+w+1)=0,0*-1=0, w®=1
@®+w+1=0,

(@-)@*+w+1)=0,
w-1=0 =1

2w? + 3w 2w? + 3w
w1 (w3)3Bw+1

_ 20° | 3w

R

L, b
—w




® 10km/h

@ 9km/h

@8 km/h

® 12km/h

@® 11km/h

:

= N

co 3x 0o OWJ
AroooAr
T ar T

of X o X

=0 =0

XN XN

ol = Tol” =
N N

= 200

7}

729l

3x — 3y = 200

2 200

g

ZEE

x+y =200

|

3x -3y =200
x+y =200




4.

AP AL 3t — 43 —4x? — x4+ 1 = 02 TEot=

1 _
x4+ =a?h3hA o W, a7t B 4 9l BE
X

x2 0.2 el
1 1
x2—x—4——+—2—0
X X

¥-a-6=0,(a-3)(a+2)=0
La=3FEa=-2
wheba, BE A9 o A2 3+ (-2) =1




Ay, yoll tiste] 2x2 + 32 +2xy +2x -2y +5 =02 o, xy <
w27

2x2 +y2 4+ 2xy+2x-2y+5=0 =

x of tigt WA =0 = A ejstH

222+ 20+ Dx+y* -2y +5=0 ---Q
ol o], x = AFo|BEE @& ALE 7HAoF &t
D=(y+1)?-2(*-2y+5) >0
—24+6y-9>0 (y—3)><0

Ly=3

y=3Z& Q@°f tidstH

202 +8x+8=0, ¥*+4x+4=0
(x+2)2=0

Tx=-2 . xy=(-2)-3=-6




